LINEAR ProaraMMINg  (ALGERRAIC METHop) T
STANDARD FORM:

* A\ comstraimds are e.q,umu'h'es with mom- meﬂah‘ve
RHS

° Al veniables are mom- ’h-e_c.)o.-h've,
o Ob)‘ech‘ve {-umr.-'n‘w\ v ffh&ﬂl"’m'gah'mav 'fhu'ﬂ;'w'}"ﬁn
HanbLiNG ConsTRAINTS
R+ 2%, £6 v W +2%,+ S, = 6
(+ve slack vaniable)
3%, + 2% - 3Ny 2§ B+ 22, - 31.3—152-.;5'
C+ve swrPlMs vacrl'o.Lle,)
3, + T, - 30xq £ -4
=k -3%x, —-7%, + 3°°“3'53’l“

HANDLING VARIVARLES
No‘n-'n'e:‘a'l'\'ﬁ'l‘v’ v not a restretive
constraim . : -
4 A, w wmeonshoined W sign them
W, 1S 're_P(e.ced 57 Foo veaebles x;_,'x,”,
Wheve 7(-)_' omd 9\2‘” ont bolS pesihie
Ond X, = 7(2_'- 'x,f'. Hence o conshoant

Uke
X +22; £ wi)l look Uke
9t.| : 3 217_, -2'12_,’$ 6 .

WRITE THe FOLLOWING N STAMDARD PoRNM:

STS. Fomm: Mt iord 2= 2a'-2a" 3
Nl'hl'mise Z = 2%, +3%y st?whjse ,,' T 431,
\ = — = -t =
-23,+3%; ¢-5 s et
¥ -4%, £ 4 2 _,h' ~U%, 4+ Sa = 6



